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1. MODEL RULES

(a) xr-x=2"

(b) x - 2" =3"5"

(c) x - (273Y) = 3*5Y

@ Y e _ g

(e) 92%'3V (2231’5”329”) _ 935"

(f) 2857 (2%37) = 2¥

(®) 2 (375%) =

(h) 2. (3%'5%) = 3%'5"

(i) 2Y . (3"5Y) = x (except if y = z,x = 27)
() 27 (375 ==

(k) z - (375Y) = 3°5Y (except if x = 2¥ or & = 2%'%")
(1) 2237 (3%5Y) =

(m) A

(n) x -y = 2"3Y otherwise.

Ambiguities: We analyze only those cases which are not completely obvious.
e (a)),(?7?), (??) and () are disjoint, since x, 27, 2%, 9223 are pairwise distinct.

o and (f) are disjoint, since (putting = 2% in (d)) a # 3v5.
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e (g)) is disjoint with (b)),(d),(q),[&),([) since 22* # x # 2% # 2*37.
o is disjoint with (J)),(l) since z # 2*.

e ({]) is disjoint with (j)), () since 2v3Y # y # 273V,
e () and () are disjoint except if = y, in which case they both resolve to the

same element .

o If may apply, then , and @) may apply too.

° and () are disjoint, since x # 223",

e Even if in we have a free x as right factor, it does not have any ambiguities
with the previous rules in which the right factor is of the form 2%, 2%3” or
3°5°. E.g., consider a possible ambiguity with (), in which z = 22°36 . This
then would imply that § = 322%;35&, which is impossible.

2. VALIDITY OF THE MODEL

(1) In the generic case:
a) First level:

=2V, ay =23

)

e () applies to y2.
e No rule other than (n) applies to zy.
b) Second level:

x - (273Y) = 3°5Y.

e () applies.
¢) Third level:

2V - (3°5Y) = x.

o (fi) applies.
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(2) Ifz=y:

a) First level:

z? = 2%,
e ([a)) applies to 2 twice.
b) Second level:
x - 2" = 3"5".
e (b) applies.
¢) Third level:
27 - (3"5") = .

o (i) applies.
(3) If y = 2%

a) First level:
2=V gpy=ugx-2"=3"5"
e ([a)) applies to y?, (b)) applies to xy.
b) Second level:
x - 3°5" = 3'5".
e (h),() do not apply since x # 2°.
e (), do not apply since x # 2%"%".

e (k) applies.
¢) Third level:

2V . (3°5%) = 22" . (3"5") = .

o (fi) applies.
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(4) If y = 2737

a) First level:
y? =2 ay=ux-2"3" = 35"

e ([a)) applies to y?, (d) applies to zy.
b) Second level:

x - 3%5%.

e () does not apply since o # 2%'%".
o If z = 2° then (h)) applies:

2° .35 = 375" = 35"
o If x # 2% then applies:
x - 3"5° = 3"5"%.
¢) Thirld level: (ll) applies:
20357 =277 . 35% = 1.
(5) If & = 23",y = 223w
a) First level:

y2 — 2?}7 Yy = 23"5” . 22”3u — 2’1}.

° @ applies to 32, @ applies to zy.
b) Second level:

93"5" L 9v,
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o If u =325 then applies:
we2r =28 T g =gy,
o If u # 3%5Y then applies:
235" . gv — 92" 32",
¢) Third level:

o If u =325 then (d) applies:

ov. Qv =¥ g — ¥ g
o If u # 3%'5" then (g) applies:

2371,5’0

3usv v 2V qu v UEV
2V .27 " 3% =27 3. 9% " 32 = 93" — o
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